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1 | K g - B EHEGEXE 1 1 17 1701 58. 23
2 |H/leE . RESERE 1 17| 2] a2
3 |ARS | HE « HEHGERXIE 1 1 17 1703 41,52
4 | A7 HE - BEHERXE 1 1 17 1704 41.53
5 | RS 1 HE « REHGERXIE 1 1 17 1705 41.51
6 | &), | HE - HIEHEGERXE 1 1 17 1706 41.51
T RS |EE - REHEXIE 1 1 17 1707 41,53
8 | A/ HE -« #EHEGEKXE 1 1 17 1709 79. 83
9 | A/ \HE -« EHGERXE 1 1 17 1710 78.2
10 | R 1HE - BIETHEGERXE 1 1 17 1711 39. 82
11 | RS HE - REHFERE 1 1 17 1712 37.21
12 | R 1HE - RIEEHEGERXE 1 1 17 1714 36. 82
13 |R) | HE « RIEHFERXIE 1 1 17 1715 36. 82
14 | R 1HE - RIEEHEGERXE 1 1 17 1716 36. 84
156 | R/ HE « RIEBEHEGERXIE 1 1 17 1718 36. 83
16 | R | HE « RIEHEGERXE 1 1 17 1719 37.2
17 | RS HE « RIEBEHGERXIE 1 1 17 1722 78. 77
18 | A |HE « HIETHEGERXE 1 1 18 1801 58. 23
19 |57 |HE - RESERE| 1 1 18 | 2% | a2
20 |F) | HE « #EHEEXIE 1 1 18 1803 41,52
210 | R HE « mEBEERXE 1 1 18 1804 41.53
22 | ) | HE « #BEHEEXIE 1 1 18 1805 41.51
23 | ) HE « mEBEERXE 1 1 18 1806 41.51
24 | R | HE « #EBEHEXIE 1 1 18 1807 41,53
25 | R HE « mEBEEEXE 1 1 18 1809 79. 83
26 | ) | HE « #EHEEXIE 1 1 18 1810 78.2
21 | KR HE « mEBEEEXE 1 1 18 1811 39. 82
28 | ) | HE « #EEEXIE 1 1 18 1812 37.21
29 | ) HE « mEMERXIE 1 1 18 1814 36. 82
30 |FS |HE « #EEEXE 1 1 18 1815 36. 82
31 | HE «- #ENEERXE 1 1 18 1816 36. 84
32 |/ |HE « #EHEEXE 1 1 18 1818 36. 83
33 | &) |HE «- #ENEEXE 1 1 18 1819 37.2
34 |/ |HE « #EEEXIE 1 1 18 1822 78. 77
35 | ESHE « #EERXE 1 1 19 1901 58. 23
36 | H/HE - REHERE 1 1 19 | 2% | a2
37T |/ | HE « #EEEXIE 1 1 19 1903 41,52
38 | A/ |HE « #ENEXE 1 1 19 1904 41.53
39 |/ |HE « #EEEXE 1 1 19 1905 41.51
40 | K |HE - REGEXIE 1 1 19 1906 41.51
4N |FHE - mEBEHEXIE 1 1 19 1907 41.53
42 | K |HE - REYEXIE 1 1 19 1909 79. 83
43 | R | HE « #EHEEXIE 1 1 19 1910 78.2
44 | K |HE - REYEXIE 1 1 19 1911 39. 82
45 | R | HE « #EBEHEEXIE 1 1 19 1912 37.21
46 | K |HE - REYEXIE 1 1 19 1914 36. 82
47 | R HE « #EEXIE 1 1 19 1915 36. 82
48 | K |HE - REYEXIE 1 1 19 1916 36. 84
49 |F) | HE « #EBEHEEXIE 1 1 19 1918 36. 83
50 | &) HE «- #EEEXE 1 1 19 1919 37.2




51 | HE «- #EEERXE 1 1 19 1922
52 |/ |HE « #EEEXIE 1 1 20 2001
53 | %1 ME - REHERE 1 1 20 | 202
54 | HE - #EEEXE 1 1 20 2003
55 | &S |HE « #EEEXE 1 1 20 2004
56 | &) |HE « #ENEXE 1 1 20 2005
57 |/ |HE « #EEEXIE 1 1 20 2006
58 | &) |HE « #EEXE 1 1 20 2007
59 |/ |HE « #EEEXIE 1 1 20 2009
60 | ) HE « #EEXIE 1 1 20 2010
61 | R | HE « #EEEXIE 1 1 20 2011
62 | ) HE « REBEEXIE 1 1 20 2012
63 | ) |HE « #BEEEXE 1 1 20 2014
64 | ) HE « REERXIE 1 1 20 2015
65 | ) |HE « #EEEXIE 1 1 20 2016
66 | | HE « #EEXIE 1 1 20 2018
67 | R | HE « #EHEXIE 1 1 20 2019
68 | ) | HE « mEEXIE 1 1 20 2022
69 |F) | HE « #EEEXIE 1 1 21 2101
0 | KSHEE - REHERE 1 1 2o | 2%
1| EHE «- RENERXE 1 1 21 2103
72 |FE|HE - #EDEEXE 1 1 21 2104
3 EHE - REERXE 1 1 21 2105
T4 |FEHE - #EEEXE 1 1 21 2106
B EHE - REERXE 1 1 21 2107
76 |FES|IHE - #EDEEXIE 1 1 21 2109
TR HE - REDERXE 1 1 21 2110
8 |ES|HE - #EEEXIE 1 1 21 2111
79 | E | HE - REDERXE 1 1 21 2112
80 |F) |HE « #EEEXIE 1 1 21 2114
81 | ) HE « #EBEEXE 1 1 21 2115
82 | ) | HE « #BEMEEXE 1 1 21 2116
83 |F) | HE « mEEXE 1 1 21 2118
84 |F) |HE « #BEHEEXE 1 1 21 2119
85 | F) | HE « mEBEEXE 1 1 21 2122
86 | ) |HE « #EEEXE 1 1 22 2201
87 | %% - AEAHREE 1 1 2 | 2%
88 |F) | HE « mEEXE 1 1 22 2203
89 |F) | HE « #EMEXIE 1 1 22 2204
90 | F) | HE « mEEXE 1 1 22 2205
9 |F) | HE - #EEEXIE 1 1 22 2206
92 |F) | HE « mEERXE 1 1 22 2207
93 |F) |HE « #BEHEEXE 1 1 22 2209
94 | | HE « mEERXIE 1 1 22 2210
9B |F/ | HE « #EEFXIE 1 1 22 2211
9% |F) | HE « REEXIE 1 1 22 2212
97 |F) |HE « #EHEFEXIE 1 1 22 2214
98 |F) | HE « mEEXIE 1 1 22 2215
9 |F) | HE « #EHEFRXIE 1 1 22 2216
100 | R |HE « #ENEEXE 1 1 22 2218
101 | R |HE « #EEEXE 1 1 22 2219
102 | ) |HE « #ENEEXE 1 1 22 2222
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